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Sub-Section Number: 1
Sub-Section Id: 335472238
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354727531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which darm is built on the Narmada river approx. 10 kim from Punasa village in Khandwa district in Western

Madhya Pradesh? | %19 T aiel UPEH! 7 near # @gar el & G i & & 10 ferdt g FHar 78T u a=mar 1w g7

Correct : 1 Wrong : 0

Options :

# Halali Darn | Tl arer
# Jobat Darn | Siee amer
¢ Indira Sagar Dam | Eie<T G0 arer

o S L

® Tawa Dam | Jarany

Question Number : 2 Question Id : 3354727532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the world famous Ajanta Caves situated? | e g SaT &1 THTT Fgl 1e9d a7
Correct : 1 Wrong : 0

Options :

1. ¥ Madhya Pradesh | Aeanea
2. ® Uttar Pradesh | Ja0ey

3. ® Orissa | I&m@Tm

4. ¥ Maharashtra | AgRTE

Question Number : 3 Question Id : 3354727533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who made the first discovery of an asteroid from an Indian Observatory in the 20th Century? | 20 =i @aI #
WIS 14 TLTITAT | T GG P Uged! @I [ord = 17

Correct : 1 Wrong : 0

Options :

1. ¥ R. Rajamohan | 3. TTHIGT
2. ¥ MK.V. Bappu | TH.& d@t.amg

3. # ].C Bhattacharya | 31 & wgm=mt
4. ¥ N.C Rana | ga.€tqom

Question Number : 4 Question Id : 3354727534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which type of sugar is found in milk? | o # forg W &1 =T oTg STt §7
Correct : 1 Wrong : 0

Options :

1. # Fructose | WeAs@eT
2. ¥ Lactose | gresERT

3. ® Glucose | TTy-g@TT
4. ® Sucrose | ST

Question Number : 5 Question Id : 3354727535 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
On which day in April 1919 did the Jalianwalla Bagh massacre, one of the worst political crimes in modern

Ialiﬁs%?ry, take place? | aWd 1919 & forg & STTereraTeT ey TREgR, ATi® Sidg &1 Ud Tedl @Te T Tadr SIURTe],
T

Options :
1. ¥ 7 aApril | 7 30

2. ¥ 13 April | 13 afa
3. % 19 April | 19 sia
4. ® 23 April | 23 &

Question Number : 6 Question Id : 3354727536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘International Labour Day’ (May Day) is celebrated on _____________ of every year. | ‘S@UET 47 fead (A feaay,
o T AATAT AT

LY

Correct : 1 Wrong : 0

Options :

1. v 1stMay | 1\
2. % ondMay [ 2 W
3. % 3rdMay | 3 W
4. ® 4th May | 478

Question Number : 7 Question Id : 3354727537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

All speeches made in the House of People are addressed to _____________. | e T H feg g et H
FI GAITET T AT 8l

Correct : 1 Wrong : 0

Options :
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1. #® The Prime Minister | Tem=aaT

2. ¥ The Speaker | s1ey

3. ®¥ Minister for Parliamentary Affairs | Gaera ®1d #AT
4. ® Respective Ministers | Harad AT

Question Number : 8 Question Id : 3354727538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was the first non-founder CEO of Infosys who resigned leading to a public debate over corporate
governance? | TG & U5l TR-GEe Sigsl @19 & Firgid F10Re Ta-d UY grei-d a5q § 5ed 157 3 fear

Correct: 1 Wrong : 0

Options :

1. ¥ Ajay Piramal | e/ diRHe
2. ¥ Vishal Sikka | Taame e
3. ¥ Sachin Bansal | G4 a6d

4. ® Rahul Singh | g &g

Question Number : 9 Question Id : 3354727539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The Central Bureau of Investigation comes under which ministry of Union government? | H&Ia STl s #g
THR & T AATE o STl S71aT 87

Options :
1. #¥ Ministry of Home Affairs | Tg #3@4

2. ® Ministry of Law & Justice | FTA T -1 HI
3. ¥ Ministry of Personnel, Pension and Public Grievances | @Tid®, U T did [S@ad A4

4. ® Ministry of Finance | a9 aai@g

Question Number : 10 Question Id : 3354727540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which oéf;he following is India’s first oil refinery in 19017 | FATRET # @ &9 1901 ¥ G1iUq YRT &1 Uga! del

Correct: 1 Wrong : 0

Options :

1. ¢ Digboi Refinery | f2mag feweadr
2. #® Chennai Refinery | g Rw=aa
3. # Vishakhapatnam Refinery | fasmamem wear

4. ® Guwahati refinery | Tamge REEAT

Question Number : 11 Question Id : 3354727541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who among the following Indian musicians has won a Grammy Award? | FEleiad YR 1 @igert # § T ot
g °

Correct: 1 Wrong : 0

Options :

1. ¢ Zakir Hussain | STfe gé@=

2. ¥ M.S. Subbulakshmmi | A TWHEATSY GegraH!

3. # Pt. Ronu Mazurndar | 4. T+ THER

4 % 5P Balasubramaniam | #uid GiEaeregar arargeaavay

Question Number : 12 Question Id : 3354727542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following districts is known for production of opiumn? | FafeRET Mat # @19 a1 enpim IeueT &
Tl ST ST 87
Correct : 1 Wrong : 0

Options :

1. # Shivpuri | fSeger
2. ¢ Mandsaur | HgER
3. # Sheopur | SR
4. ® sidhi [ greft

Question Number : 13 Question Id : 3354727543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Narme the Prime Minister of India who was born in Madhya Pradesh? | Teaa@r Uesr # S+H &= aTel YR & WeTAAT @7
T dd1sy?
Correct : 1 Wrong : 0

Options :

# Chandra Shekhar | T %€

¢ Atal Bihari Vajpayee | 3°d dgRT amudr
# Rajiv Gandhi | T TTeft

#® P V. Narasimha Rao | T, ot sRi&wgT 7

ol L

Question Number : 14 Question Id : 3354727544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Athkhamba Temple is located at which place in Vidisha? | 3Ma@reT Aley i # e e w iRm g ?

Options :
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¢ Gyaraspur | TTHYT

il
2. ® Gopalpur | MUTAYT
#® Melsa | AaET

4. ® Bagpur | aTTR

w

Question Number : 15 Question Id : 3354727545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the Kapildhara Waterfall located? | @UeRT AT F5T 9T 7
Correct : 1 Wrong : 0

Options :

# Bhedaghat | ¥STaE

# Chachai | Z=mg

¢ Amarkantak | SATHECE
#® pachmarhi | T

3 S

Question Number : 16 Question Id : 3354727546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where in Madhya Pradesh is Sawai Singh’s Samadhi located? | ReRMcS H HaTs &g &1 TuTher Fgl T 87
Correct : 1 Wrong : 0

Options :

1. ® Datia | gfdar

2. ® Sheopur | IRYT
3. #® Neemuch | S

4. ¥ Chhatarpur | FaT

Question Number : 17 Question Id : 3354727547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In ancient times, Agar-Malwa was capital of which empire? | WEHH e #, 3T ATAT 90 GEEE Sl =T 17
Correct : 1 Wrong : 0

Options :

#® Maurya | #1d
¥ Gupt | T

¢ Parmar | UWHTT
® Chol | =ia

3 R

Question Number : 18 Question Id : 3354727548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following was a popular visiting place of the Mughals for summer vacations? | Faieas # & #19 9f

Correct: 1 Wrong : 0

Options :

1. ¢ Agar Malwa | I AT
2. ® Shivpuri | degar

3. ¥ Gwalior | e

4. ¥ Jhabua | T

Question Number : 19 Question Id : 3354727549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Baijnath Mishra (Baiju Bawra) wasa __________ rmusician. | T TR (S ameRn U __________ griigaTe 9n
Options :

General Maths and General Aptitude
1. ¥ Dhrupad | ¥9g
2. ® Khyal | @Il
3. ® Tappa | TouT
4. ® Ghazal | T9d

Question Number : 20 Question Id : 3354727550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

__________ does not border Madhya Pradesh. [ _________#1 {1, Azamdy & et g2 =51 81
Correct : 1 Wrong : 0

Options :

1. ® Gujarat | TERI

2. ¥ Maharashtra | FERTE
3. ¢¥ Bihar | fgR

4. # Rajasthan | TEEIH

Section Id : 335472239 1

Section Number : 1

Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 1
Display Number Panel: Yes
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Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472239
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The average monthly income of a family of four members is Rs. 5000. The head of the farnily retires and the

average comes dowr to Rs. 4000. What was the salary of the head of the family prior to retirement? | IR Ggedt
TRl Uef TiReX 1 ST ATider S 5000 203 31 Tie & WHE Helli-gad 51 914 & &M Slad s 4000 20 Ugel STd1 gl

HaTgd g9 9 Ugel URER & WGQ 1 da- a7 417

Correct : 1 Wrong : 0

Options :

1. ¥ Rs. 6000 | 6000 T2
2. ¥ Rs. 8000 | 8000 ¥
3. ® Rs. 7000 { 7000 T2
4. ¥ Rs. 9000 | 9000 T2

Question Number : 22 Question Id : 3354727552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If 3x* — 6x? + 10 = 0, then (x*— 1)? is equal to ./ T 3xt-6x2+10=0, dr (x2-1)
& X gl
Options :
1. % 10
2. %9
7
3 ® 3
7
sv 3

Question Number : 23 Question Id : 3354727553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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: 1 1 1 n: . 1 1 1 n N :
Thevalueofnmﬁ-i-z—g womisd cmts = Hn HFTATE:

28 28~ 210

Correct : 1 Wrong : 0

Options :

S
8
uow

Ll
(83

Question Number : 24 Question Id : 3354727554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Th%ig%?r%i]ty of a cubical vessel of inner side 10cmis ___ cu.crm. | 10 ST arer SaCr i & U O+ 12 U7 & §HaT ___
o)

Correct : 1 Wrong : 0

Options :

1. ¥ 100
. ¥ 1000
® 10
4 % 1

n

w

Question Number : 25 Question Id : 3354727555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Find the value of x, when 2x + 4 = 26. | x & A &TUJT &G, Ja 2% + 4 = 26 FlaT 3l
Options :

1. % 22

2. ¥ 11

-4

® 10

w

¥ 13

-

Question Number : 26 Question Id : 3354727556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the sum of 30 consecutive odd numbers starting from 1?7 | 1 & & g4 aldl 30 FHTTA Ty Gemslt &1

Wélllp
Correct: 1 Wrong : 0

Options :

ol O
b3
o
o
o

Question Number : 27 Question Id : 3354727557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | sffad faiom

22, 55, 45, 24, 34
Correct : 1 Wrong : 0

Options :

S
8 8

w

n

35
4 ¢ 36

w
2

Question Number : 28 Question Id : 3354727558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a fraction F = p/q, if the denominator is decreased by 3, the fraction is equal to 1/3 and if 5 is added to the

numerator then the fraction becomes 1/2. The fraction Fis___. { U@ ™9 F = p/q # AfE W HI 3 A WRRTTGTE, T
WF 1/3 F R T IAET 3 R A AT HAS ASTA@Te AT g 1/2 519 g ____ 3

Correct: 1 Wrong : 0

Options :

1. ¥ 11724
2 ¥ 7i24
3 85112
4 ® 7112
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Question Number : 29 Question Id : 3354727559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : 0
A shopkeeper keeps two types of detergents. Type I is 10 kg at the price of Rs. 45 per kg and type Il is 8 kg at
the rate of Rs. 50 per kg. He mixes both together sells at a total profit of Rs. 68. At what rate did he sell the
mixture per kg? | U@ JRFER & U 2 FR & [2T9e 51 Ugell WA, 45 mﬁm%ma 10 T eﬁr%m

S0 20 wid o @ fgama & 8 Torom 31 3 gt fEesie 1 et 68 20 & Fal oIt W ol 10T 81 394 89
e TgaTar & ST 27
Options :

1. ¥ SORs. | SO &y
2 ¥ S1Rs. [ S1 &y
3 ® 49Rs. (49 703

4 ® 483Rs. (483 T4

Question Number : 30 Question Id : 3354727560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On a twenty-question test, each correct answer is worth S points, each unanswered question is worth 1 point
and each incorrect answer is worth 0 points. Which one of the following scores is NOT possible? | UF &g 04
TR TG H, Udieh W51 Jo 5 &7 T 8, Hedh STgeied W 1 87 7 & ${1¢ Hedier Teld Jo¢ O 310 1 8 gieiiad siwlt # § &
qTUF G9d 51 57

Correct : 1 Wrong : 0

Options :

1. ¥ 90
2. % 91
3. % 92
4 ¢ 93

Question Number : 31 Question Id : 3354727561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 40% of a number is subtracted from the number given 30, then the number is: | ITe Uw G941 § & IHT TEa1 7
40% AT AGT 3 a1 30 UTH 5147 &, 35 9T &
Correct : 1 Wrong : 0

Options :

1. ¥ 40
2.8 70
3. ¥ 50
4. ¥ 80

Question Number : 32 Question Id : 3354727562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The respective ratio in the present ages of Ramesh and Jayesh is 3:2. Four years ago, Ramesh’s age was more
than Jayesh’s age by 6 years. What is the gresent age of Jayesh? | THY & AL &1 ad AW MG | 3:2 FT Falad
SUTT B TR aY Uge, THY DT ST AL &1 g | 6 o arferar offl S &1 ad a3y T 87

Correct: 1 Wrong : 0

Options :

® 18years | 18 W
¢ 12 years | 12 78
® gyears | 6 ad

#® 10 years | 10 79

ol A

Question Number : 33 Question Id : 3354727563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Surabhi sold a washing machine for Rs. 9499 at a gain of 15%. Find the cost price of the washing machine. |

TR = g andiT 7S P 15% % @1 W 9,499 0 ¥ ok ATt g & e g A1 @l
Correct : 1 Wrong : 0

Options :

# Rs. 8000 | 8,000 T0F
# Rs. 8100 | 8,100 z02
¥ Rs. 8260 | 8260 ¥
# Rs. 8300 | 8,300 3

ol L

Question Number : 34 Question Id : 3354727564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
If each a%gle of a polygon is 120 degrees, then the polygon is____. | U g T Wede 0T 120 12701 § a1 g age

Options :

1. ¥ Hexagon | g4
2. ® Pentagon | U=y
3. ® Octagon | s®YS
4. ® Decagon | TIA

Question Number : 35 Question Id : 3354727565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 34567B6 is divisible by 36, then the value for Bis___. [ Ii¢ 34567E6, 36 ¥ awsa s B F g A ______ 2
Correct : 1 Wrong : 0

Options :
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1% 1
2. %3
il

4 8 7

7

Question Number : 36 Question Id : 3354727566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

27

The 2017t decimal in i
3700

after the decimal pointis ./ GRHAD + EESIGH —3700

20177 EUHTT gl

Correct : 1 Wrong : 0

Options :

R
2. 87
V2
4 ® 9

w

Question Number : 37 Question Id : 3354727567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1212 + 1292 =2

Correct : 1 Wrong : 0

Options :

1. ¥ 32482
. ¥ 31282
® 21382
® 21264

SoW N
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Question Number : 38 Question Id : 3354727568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : 0

Th;fge;imeter of a rectangle is 60 m. If the length is twice its breadth, then its area is: | U&F T4d &7 UKATT 60 T,
2 e welTs, IR SIS @ SNAT 3, TT ST §A6d &

Options :
2
~ 160m?2/ 160 #HY
1 >
2
~ 180m?2/ 180 HT
20"
2
200 m2 / 200 #Y
3
2
100 m2 / 100 #Y
4 %

Question Number : 39 Question Id : 3354727569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The average of six numbers is 30. If the average of first four numbers is 25 and that of last three numpers is
35, then what will be the fourth number? [ & GEATsl @7 sitad 30 1 ATe WH IR G@ATSll #7 sftqq 25 &K sifdn 14
el T 35 B, T S8 & et g ar gl

Correct : 1 Wrong : 0

Options :

1. ¥ 25
2. % 30
3. ¥ 35
4. ® 40

Question Number : 40 Question Id : 3354727570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

General Hindi
Single Line Question Option : No Option Orientation : Vertical

Find the total number of factors of 72. | 72 % 0 @[ &l el G&AT AT P
Correct: 1 Wrong : 0

Options :
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1, WEP

2. % 10

3% 5

4 % ¢
Section Id : 335472240
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472240
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

WTYT 3 S & T T T ST 0 aTeAT ST ______ HGATAT 31
Correct : 1 Wrong : 0

Options :

1. ® I
2. ® T
¢ TUTHR

(WA

& oM

-~

Question Number : 42 Question Id : 3354727572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sreg! H W aull B ST SIeTT Gk Toia- @1 T Fgd 57

Correct : 1 Wrong : 0

Options :

4. % guf 97y g
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Question Number : 43 Question Id : 3354727573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

95T FId TG TR UT A & FAT AT 8, I FEd -
Correct : 1 Wrong : 0

Options :

1. ¥ Ty
2 ® gureng
\/ S IC

(W1

~

® gegroTd

Question Number : 44 Question Id : 3354727574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FAT AT P g ol? AT AT G _______ TN’ 59 a1 ® Repd g W Sfad Ao @ i
Correct : 1 Wrong : 0

Options :

S
¢

S W
{ % %
% 5 3 4

Question Number : 45 Question Id : 3354727575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Options :
1. Wq
2. % g
38y

4 8 7

Question Number : 46 Question Id : 3354727576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

QAT FT uAiETE g d & w9 arg?
Correct: 1 Wrong : 0

Options :

2 8 z4v
3. ¢ gal
4 ® gq
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Question Number : 47 Question Id : 3354727577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

S FF AR AGT & & Tord U Yeg g H & FI @187

Correct : 1 Wrong : 0

Options :

AW
8 8

Question Number : 48 Question Id : 3354727578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ARy & 9fe fege R A S I arg?

Correct : 1 Wrong : 0

Options :

1. ¢ TOg+smey
2. ® fUF+amcy
3. ® WUaT+smey
4. ® T+

Question Number : 49 Question Id : 3354727579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T F1 oA qeg Mg A A AT ATR?

Correct : 1 Wrong : 0

Options :

1%

-

3. %

W L o}q
%.—. ol

4

Question Number : S0 Question Id : 3354727580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g IUET AT e F H H BT 27

Correct : 1 Wrong : 0

Options :
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Question Number : 51 Question Id : 3354727581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T deg H 99 # & FI9 97 9HT 37

Correct: 1 Wrong : 0

Options :

1. ¥ Foyzy qAH
2. ® gy anmE
4. ¥ gty aag

Question Number : 52 Question Id : 3354727582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

31T T gera] @ off o § & i | g7

Correct: 1 Wrong : 0

Options :

1. ® Hig g
2. ¢ g T

3. ® aifE ga =T
4. ® FJmET

Question Number : 53 Question Id : 3354727583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘e # g g A AR arg?

Correct : 1 Wrong : 0

Options :

<

P

S
#

=

&

Question Number : 54 Question Id : 3354727584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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“FEd Aed Ui T, e e At
WA | 977 &, A9g &1 @l aral
Ul H Mg A A B AT 87

Options :

1. ¥ gk @
2. ¢ gR ™
3 % g
4 ® g@TE

Question Number : 55 Question Id : 3354727585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FIHT @1 qg H &1 7 urt s
I FehT A s, T Frae i
H I 9T SIFFR 3l TR1 ey gig?

Correct: 1 Wrong : 0

Options :

1. ¥ §3g sEFR
2 s SEET

4 ® quF SEFR

Question Number : 56 Question Id : 3354727586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Tou Ty veg @ fawiw T O & @ g - s

Correct : 1 Wrong : 0

Options :

1. % ygid wiea & Y 9edt 927 aRa 2

2. ® g feamt v 9 AEaT &1 Qe #dr gl

3. ¢ 31, uda, 3R, US-Ure nidge kel # off g @2 w8
4. ® FE AT F FAR G FAI ITATT BT Tl gl

Question Number : 57 Question Id : 3354727587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ST YT Tk 19T SAag R ! 9T 1, 39 T § & @ar gd 87
Correct: 1 Wrong : 0

Options :
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1. % T
2 ® B

3_3&1;@“5”
4. ¢ Ty

Question Number : 58 Question Id : 3354727588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

37 ' e T A F -
Correct: 1 Wrong : 0

Options :

Rural Economy and Fanchayati Raj
1. ¥ o i
2. ® oy
3. ® fUma
4 ¢ Tig

Question Number : 59 Question Id : 3354727589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

EEHE T GHTE- g aqTe
Options :

1. g % G0 g9

2. ® ZgnAT T g

3 % RT3

4. ® grar g

Question Number : 60 Question Id : 3354727590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TIT-JEIT - 59 et | ‘WIT’ 7 3 Tfd 8 a1 g w7 anf g -

Correct: 1 Wrong : 0

Options :

G ad
gf
i
7
i,

&
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Section Id : 335472241

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472241
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the amount given for construction of toilets at Gram Panchayat level under Swachh Bharat Scheme? |
TTH T ¢ U €eRf WG AT & aTa e aa1 & oy Tora=iT ¢St uee &1 Jdt

Correct : 1 Wrong : 0

Options :

1. ¥ R5.12000/-
2. ¥ Rs.10000/-
3. ¥ Rs.8000/-

4. ¥ Rs.62000(-

Question Number : 62 Question Id : 3354727592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
When did Gram Swaraj Yojana cormmence in Madhya Pradesh? | IT‘RN%}?T H UTH TR T del WP §'§7

Options :

1. ® 26 January 2000 | 26 S=ad, 2000
2. ¥ 31 March 2002 | 31 #mE, 2002

3. ¥ 26 January 2001 | 26 Sad, 2001
4. ® 1 Aprilj 2003 | 1 aWd, 2003

Question Number : 63 Question Id : 3354727593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The appligation to become a Kisan Mitra is submitted to _______. | U T T e e e _______ BT ST
TeFIT ATAT

Correct: 1 Wrong : 0

Options :

1. ¢ Nearest Gramin Krishi Vistar Adhikari | FeeadT oHiT FiY Tear sidemer
2. ® Department of Agriculture | F fawmT

3. ® Gram Sabha | T 4T

4. # agricultural Produce Marketing Comrnittee | it Jeure, fauur |iafa

Question Number : 64 Question Id : 3354727594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The mainstay of Madhya Pradesh’s economy is: | W& UGS &1 srffeliae &1 §& ATw ¢
Correct : 1 Wrong : 0

Options :

1. ® IT Sector | g1 q@-1% &3
2. ¢ Agriculture | FY

3. ¥ Industries | JEMT

4. ® Trade | =W

Question Number : 65 Question Id : 3354727595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The objective of Swarnajayanti Gram Swarozgar Yojana is to provide _______. | TAVTAI T UTH TR T AT T
IR, TS AT 3]

Correct : 1 Wrong : 0

Options :

1. # Self employment in urban areas | S 831 # TR

2. ® Employment opportunities in cities | Jgf # TR & ST

3. ¢ Self employment in rural areas | WTHIT &= # TEwT

4. ¥ Employment in government organizations | GT@C Gra=t # T

Question Number : 66 Question Id : 3354727596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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As per Union Budget , what is the targeted coverage (percentage of cropped area) under Prime Minister Fasal

Bima Yojana for the year 2017-187 | #g1a o91¢ & AR, a4 2017-18 & TolT We=a=T Gae a1 Fiee1 & siatia feaar
FITGHT TheresT (el & T Wid ) &7

Correct: 1 Wrong : 0

Options :

1. ¥ 20%
2. ¥ 30%
3. ¥ 40%

® 50%

Question Number : 67 Question Id : 3354727597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What percentage of the amount will be locked for 4 vears in Pradhan Mantri Garib Kalyan Yojana 20167 |
u%rmuagrﬂﬁammm 2016 H e=RTidr &7 fra nid e 4 @ & fog dve g

Options :

1. ¥ 75%

2. % 50%

3. ¢ 25%

4. ¥ No arnount | g =TS A5

Question Number : 68 Question Id : 3354727598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

is the main rubber producing state in India. | ________ URT § TES FT IJcUTGH @i aTal & T4 gl
Correct : 1 Wrong : 0

Options :

1. ¥ Kerala | 3%

2. ¥ Maharashtra | HERTYE
3. ® Tamil Nadu | afa=Tg
4. ® Uttarakhand | Iqa0&Es

Question Number : 69 Question Id : 3354727599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Madhya Pradesh Bhoodan Yagna (Nirsan) Adhiniyam Act was enacted in_______ - | HET NS Y I ()
artertaay &1 iy T2 ¢

Correct : 1 Wrong : 0

Options :
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® 1962
® 1976

® 1983
¥ 1992

e

Question Number : 70 Question Id : 3354727600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wher%e? is Directorate of Soyabean Research located in Madhya Pradesh? | Bed Uga § QR argaen e #gl

Correct: 1 Wrong : 0

Options :

1. ®¥ Bhopal | ¥
2. ® Gwalior | TR
3. # Jabalpur | Jeeq
4 ¥ Indore | 2K

Question Number : 71 Question Id : 3354727601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In Madhya Pradesh cotton is cultivated mostly in? [ 7ea ney # foread sume &1 |41 gad sifa@ gia1 87

Options :

1. # Red soil | & ST
2. ® Green soil | g0 AET
3. ¢ Black soil | et ST

4. # Brown soil | g BT

Question Number : 72 Question Id : 3354727602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whagt? is the primary role of Rajya Krishak Ayog in Madhya Pradesh? | A& WS ® T o SITANT @l U THer iHeeT
CEINT
Correct: 1 Wrong : 0

Options :

# Providing agriculture materials | T ST 0ETT AT

#® Doing agricultural research | FY el F#AT

# Developing agriculture technology | F W &7 e T

. ¢ Studying farmers’ concerns and challenges | TramT &1 Gueasit it AT HT AT FAT

s R

Question Number : 73 Question Id : 3354727603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

23rd Dec 17 Shift 1



23rd Dec 17 Shift 1

Which among the following is an oil seed? | FRARET # & @19 QT UF I 19 &7
Correct : 1 Wrong : 0

Options :

1. ® Clove | #fm

2. ® Garlic | @iggd

3. ® Ginger | 3¥®

4. ¥ Groundnut | T

Question Number : 74 Question Id : 3354727604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Under which one of the following Acts, local self governing institutions were first formally introduced in

%%:Tiern India? | fHgiaEs & & #19 & sriafaam & 959, S a0 eameil @1 ameiaw aRa § Uge! o suarie &7 & J&
T 417

Correct : 1 Wrong : 0

Options :

1. ¢ The Government of India Act 1919 | IR @R AfaT=Z7 1919

2. ® The Government of India Act 1935 | 9RT G@ R fafaad 1935

3. ®¥ The Panchayat Raj Act 1993 | U=Id U SIfei=aW 1993

4. # panchayats (Extension to Scheduled Areas) 1996 | WaTad (SFgRT &31 71 foear) 1996

Question Number : 75 Question Id : 3354727605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the approx. number of Gram Panchayats in the country as of October 20177 | TaH HFgaT 2017 TF
CUCURETEIRE

Correct : 1 Wrong : 0

Options :

1. ¥ 262lakhs | 2.62 @9
2. % 113lakhs [ 1.13 @@
3. % 184lakhs | 1.84 @@
4. % 10lakhs | 1.0 @

Question Number : 76 Question Id : 3354727606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
No. of candidates trained under Deen Dayal Upadhyaya Grameen Kaushalya Vikas Yojana for 2016-17 is

%etween? | I TATE JUTET YTHI P e % aldtd, 2016-17 # B aTet St &1 et G fora-
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Options :
1.%¥ 1t015lakhs | 1915 @™
2. ¥ 16to2lakhs | 1.6 ¥ 2 @™
3. % 21t025lakhs /| 2.1 92579
4 % 26to3lakhs [ 26 3 @™

Question Number : 77 Question Id : 3354727607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The objective of Rainfed Area Development Programime is to: | aui-T&ke &7 e arden &1 g Mg gaT s
Correct : 1 Wrong : 0

Options :

1. ® Redirect excess rainwater to other areas | 3ifdiwa auf el H1 7 A1 # Ug=™=T

2. ® Do cloud seeding for bringing more rains | 3119% a9 ga- & &0 Faas SiiEm &

3. ¥ Rainwater harvesting for drinking water | U2 Je & [T a8] el G4

4. ¥ Minimizing climatic problems for productivity increase | IcUTGHAT ag 1= & Teld Aerdrg] derelt GrEATSl H FHT FAT

Question Number : 78 Question Id : 3354727608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wornen Food Security Groups (FSGs) consists of: | TR @rer eam aug (Twuasie) # Jid &
Correct: 1 Wrong: 0

Options :

1. #® Any group of women | HigaTsll 7 #18 T G4z

2. ® Women engaged in catering | #iT saaEr # M0 AlgaA

3. ¥ Women farmers only | %de AlgaAT ToFem

4. ¥ Women engaged in cooking | WIS U= &7 FT H ATl AlgeATd

Question Number : 79 Question Id : 3354727609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following is provided with special assistance under Mission for Integrated Development of

Horticulture? | amTem=T & o ¥ Torg Trem o sl T & & Tordr Tafdte aga were forem ST 32

Correct: 1 Wrong : 0

Options :

1. ® Individual farmer | eafbTa e
2. ¥ Wornen Farmers Groups | Aigal [T agg!

3. ® agricultural labourers | QAT #Ag
4. ¥ All horticulture farmers | 4T amTaT=T fFam=t
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Question Number : 80 Question Id : 3354727610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the percentage of allocation of funds for wornen farmers under National Food Security Mission? | TER

Grer Gy THe & dga Aige fohart & Toly smafed e 7 nidaa T 87
Correct: 1 Wrong : 0

Options :

1. ¥ 10%

2. 8 20%

3. ¥ 30%

4. ® 40%
Section Id : 335472242
Section Number : 5
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472242
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the name of the first computer network? | Uge g "eed &1 ATH T 57
Correct: 1 Wrong : 0

Options :

1. ¥ ARPANET
2 ® BITNET
# MILNET

=5
4. % CSNET

Question Number : 82 Question Id : 3354727612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Computer Knowledge

A part of the computer that can be physically touched is called ______ | W @ oy T T difde = & |qudf e

ST HFAT S, _______ FEATdT Bl
Correct : 1 Wrong : 0

Options :

1. # Peripheral | GO
2. ¥ Hardware | §8aat
3. ® Application | Tqeiida
4. ® Software | GFeaR

Question Number : 83 Question Id : 3354727613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

is not an output device. | ____________ T TITYC 1SaTsd el &l
Correct : 1 Wrong : 0

Options :

1. # Printer | fiex
2. ® Monitor | A4
3. ¢ Mouse | AT
4. ® Speaker | guiaT

Question Number : 84 Question Id : 3354727614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The superscript (Ctrl+shift++) operation in MS WORD does which of the following function? | THud o€ #
FIRTEHIE (Ctrl+shift++) sfoeee FAfead § & @9 a1 @ #<aT 87

Options :

1. #® Does nothing | FF 75! #<al g

2. ¥ Create small letters above the line of text | TFHT & A5 & FUX FIC TG a1l 5
3. # Close the window | T2l Felrd #XaT 3

4. # Enlarge the window space | TdsT 909 &1 2T FRaT &

Question Number : 85 Question Id : 3354727615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

DOS based spreadsheet package is: | DOS s quedic a2 :
Correct: 1 Wrong : 0

Options :
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1. ¥ Lotus 1-2-3 | @icd 1-2-3
2. ® Spread PRO | @ig Ol

3. # Excel | Ugad
4. ® Smartsheet | AR ST

Question Number : 86 Question Id : 3354727616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On selecting a word and pressing SHIFT +F7, __________ tool opens up in MS Word 2007. | UATE @2 2007 #,
IS GG delgpe P S SHIFT + F7 @M O, U __________ ol GorT Bl

Correct: 1 Wrong : 0

Options :

¢ Thesaurus | ¥ara
# Citation | gmgea
# Caption | Fqa=

#® Glossary | T

o R

Question Number : 87 Question Id : 3354727617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A computer that requests the resources or data from other computer is calledas ________ computer. | agm‘qg'('

ST 3T T & ST AT STT T ST FXdT s, ______ FEATAT 8l
Correct: 1 Wrong : 0

Options :

#® Server | At

¢ Client | FAET

#® Complier | FHYATR

#® Operating System | TR Reew

o R

Question Number : 88 Question Id : 3354727618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the smallest unit of storage? | ®1 €T SIS T PI el Tlel GHTS 57
Options :

1. # Kilo byte | el amge

2. ® Byte | T

3. ¢ Bit | T

4. ¥ Nibble | Raaa

Question Number : 89 Question Id : 3354727619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

23rd Dec 17 Shift 1



23rd Dec 17 Shift 1

You can edit existing Excel data by pressing the ____key. | 30 _____ T e HISGT e SeT @1 T1ST FT dad gl
Correct : 1 Wrong : 0

Options :

1. ¥ F1
2. VvV F2
3. ¥ F3
4. ¥ F4q

Question Number : 90 Question Id : 3354727620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following shortcut keys is used to save a document in MS Word 20077 | TATH ag 2007 ®
TfeiaT & & forg aTé-ae gl &1 WA STergqie A& @ @ Teiy Tawarm ST 27

Correct : 1 Wrong : 0

Options :

1. ¥ CTRL + 5
2. % CTRL+O
3. 8 CTRL+C
4. # CTRL +N

Question Number : 91 Question Id : 3354727621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_______ is not a file extension. | _____ U% BIga UFaI a1 51
Correct: 1 Wrong : 0

Options :

1. ¥ txt
2 % doc
3 ® xlsx

4. ¢ text

Question Number : 92 Question Id : 3354727622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

which of the following is an example of page orientation? | 4= & & T 05 RGTIT &7 e IS0 27
Correct : 1 Wrong : 0

Options :
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1. #® Subscript | FaTewEE
2. ® Superscript | UIEHET
3. ¢ Landscape | deqad
4. ® A4 A4

Question Number : 93 Question Id : 3354727623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The main screen area that you see after you turn on your computer is called ______. IR CRIT sm?ﬂiﬁt{d‘(' i)
T &, T GG Geb e Ui o ey gaEd 8, TEATdT 3 —
Options :

1. # Start Menu | TR A

2. ¥ Desktop | SgFCIT

3. ® Operating Systern | TR Raen
4. ® Windows XP | T8 XP

Question Number : 94 Question Id : 3354727624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which file format cannot be added to a Word docurment? | @19 @1 BIgd BIHC de S1FgHe § Fa1 AIST T GdT 57
Correct : 1 Wrong : 0

Options :

® gif
¢ kpz

® jpg
¥ png

o R

Question Number : 95 Question Id : 3354727625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Virusare______. | AEE R E
Correct : 1 Wrong : 0

Options :

1. ¥ An authorized software | S1gd GTFZR
2. ® Desired attribute | aifga [@maT

3. ¢ Man Made | A= Fifq

4. ¥ Machine made | A= RiFT

Question Number : 96 Question Id : 3354727626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which was the last version of MS-DOS that was released separately? | MS-DOS &7 ag ®19 9T SifdH Gaaor o7 e
ST & SATCT Tt 72T e

Correct: 1 Wrong : 0

Options :

&
u
o

®

6.0

o A SN =
&
—

@ o
N =
M

Question Number : 97 Question Id : 3354727627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The computer size was very large in the: | 38 UigT # HI BT SRR I5d a1 FlaT dT:
Correct : 1 Wrong : 0

Options :

1. ¢ First generation | Ugell Gig !

2. ® Second generation | &L YIgT
# Third generation | dae diET
4. # Fourth generation | =it figT

w

Question Number : 98 Question Id : 3354727628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

_______ keystroke is used to go to the top of the MS Word docurnent. | ______ HIeg a % WRITT UAUE g2 Siagie §
Tad I A & Ty T Smar

Options :

1. ¢ Ctrl + Home
2. ® Ctrl + End
3. % Top

4. ®¥ Escape

Question Number : 99 Question Id : 3354727629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A hardware device that allows a cormputer to send and receive data over a telephone line or a cable or satellite

connection is called . | I% TR cI TEaTgd S HIET Bl SHIBIM ATg AT dhalel AT GeelTee F-gpa X 22T WIHa

A AT TG FA ST o, FEATAT 3l
Correct : 1 Wrong : 0

Options :
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1. ¥ Router | T3eT
2. ¥ Modem | HigH
3. ® Switch | &R
4. ® Cable | %ad

Question Number : 100 Question Id : 3354727630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is used to measure and line up objects in the MS Word document? | TATH g8 STagHc # aagsll & A1 87K

Options :

1. ¥ Ruler | &

2. ® Gridlines | TeaETd

3. ® Document Map | STagHe Aq
4. # Thumbnails | gHEIAT
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